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Tutorial exercise in Complex Numbers 

Exercice 1 

 

Let’s consider z and z’ as complex numbers:  𝑧 = 3 + √3 𝑖   et   𝑧′ =  −1 + 2 𝑖  

Write the following complex numbers in algebraic form 𝒛𝟏 = 𝒛 −  𝒛̅′ ;   𝒛𝟐 = 𝒛 . 𝒛̅ ;  𝒛𝟑 =  𝒛𝟐 

𝒛𝟒 =  𝒛′ 𝟑 ;   𝒁𝟓 =  𝒁

𝒁′     

 
 

Exercice 2 

 

Write the following complex numbers in algebraic form  a + ib :  

1. Modulus of a complex number is 2 and the argument π/3.  

2. Modulus of a complex number is 3 and the argument −π/6. 

 

Exercice 3  
 

 Perform the following operations. 

1. (3 + 2i) (1 − 3i). 

2. Product of the complex number (modulus 2 and argument π/3) by the complex number of 

(modulus 3 and argument −5π/6. 

3.   
3+2 𝑖

1−3 𝑖
 

 

Exercice 4 
 

For a complex number z :  z=x+i y, with real x and y, z ≠ −1, let consider the complex z′ 

defined by: 

𝑧′ =  
𝑍 −   𝑖

𝑍 + 1
 

1. On note  𝑍′ =  𝑥′ +  𝑖 𝑦′ , avec x’ et y’ réels. Exprimer x′ et y′ en fonction de x et y ? 

2. We note  𝑍′ =  𝑥′ +  𝑖 𝑦′ , with x’ et y’ are real numbers. Express x′ et y′ as a function 

of  x and y ? 

3. Find the set of points M with affix z such z′ is real? 

 

 

Exercice 5 

 الثانية الجذع المشترك    : السنة 

 Fundamental Electrical Engineering 1 :المادة 

 الســــداسي الثـــــااث 

    2025-2024   : الجامعيةالسنة 

 بســـكرة   -جامعة محمد خيضر 

 كليـة العـلوم و التكنولوجيـا 

 علوم و تكنولوجيا   الجذع المشترك

 فروع الهندسة الكهربائية  
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Find the modulus, argument and exponential form of each of the following complex numbers: 

𝑧1 =  √6 −  𝑖 √2  ,   𝑧2 =  −
1

2
− 𝑖 

1

2
  et   𝑧3 =  −

1

2
+  

√3

2
 𝑖 

Deduce the module and argument of  𝑧1 . 𝑧2 , 𝑧1 . 𝑧3 et  (𝑧2)2 

 

 Exercice 6 

 Linearize 

• .𝐴(Ɵ) = cos3(Ɵ) ;  

• 𝐵(Ɵ) = sin3(Ɵ) ; 

 

 

 


